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read `C:/Users/cgrie/Dynam Models Bio/Homeworks/HW15/M15.txt`
Help15();

 HW3(u,v,w), HW2(u,v) , Dis1(F,y,y0,h,A), ToSys(k,z,f,INI) 
f:= x(n) = (x(n-1)+2*x(n-2)+3*x(n-3)+11*x(n-4))/(x(n-1)+x(n-3));

ic := {x(0)=1,x(1)=5,x(2)=5,x(3)=2}

print(ToSys);

f_sys:= ToSys(2,x,f,ic);

SFP2drz(f_sys,x,x__1);
Error, (in FP2drz) invalid input: numer expects its 1st argument, x, 
to be of type {list, set, algebraic}, but received x(n)-x = (x(n-1)
+2*x(n-2)+3*x(n-3)+11*x(n-4))/(x(n-1)+x(n-3))-x |C:/Users/cgrie/Dynam
Models Bio/Homeworks/HW15/M15.txt:261|

Was the problem here because i dont have it in the right form (left hand should not be an equation)? 
print(SFP2);

Help13();
 RT2(x,y,d,K), Orb2(F,x,y,pt0,K1,K2), FP2(F,x,y), SFP2(F,x,y), PlotOrb2(L), FP2drz(F,x,y), 

SFP2drz(F,x,y) 
#Problem 3

Use procedure OrbK to numerically find stable fixed point  (if it exists) of the second order recurrence 
with given ICs
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ToSys(x(n

f:= x(n)=(1-x(n-1))*(1-x(n-2));

ic2:= {x(0)=2.5,  x(1)=2.7};

ToSys(2,f,ic2);
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Look above ^^^ see how this works.








